
PARTS LIST, STANDARD
POS TFG-50 DIN/ANSI TFG-100 DIN/ANSI

1 Nozzle, TFG-50 Nozzle TFG-100

2 Gasket, DN50 Gasket DN100

3 Flange, DN50 PN16 / 2” 150 lbs Flange, DN100 PN16 / 4” 150 lbs

4 TFG-50 UNIT TFG-100 UNIT

5 Flange, DN100 PN16 / 4” 150lbs Flange, DN150 PN16 / 6” 150lbs

6 FD-100, foam inlet FD-150, foam inlet

TFG 
INSTALLATION INSTRUCTION 

II-0001-TFG-EN

Revision: 22K08

Incendium AB                Telephone: +46 303 44 00 30                 E-mail: info@incendiumfire.com                 www.incendiumfire.com 

DIMENSIONAL DATA
Model A ≈ B ≈

TFG-50 DIN 236 mm 215mm

TFG-50 ANSI 9,29” 8,46”

TFG-100 DIN 265mm 215mm

TFG-100 ANSI 10,43” 8,46”

Assembled unit

PARTS LIST, INSTALLATION KIT
POS TFG-50 DIN/ANSI TFG-100 DIN/ANSI

A Nut, M16, ISO 4032 Nut, M16, ISO 4032

B Washer, 17x30x3, ISO 7089 Washer, 17x30x3, ISO 7089

C Bolt, M16 x 80, ISO 4014 Bolt, M16 x 80, ISO 4014

D Bolt, M16 x 80, ISO 4014 Bolt, M20 x 100, ISO 4014

E Washer, 17x30x3, ISO 7089 Washer, 21x37x3, ISO 7089

F Gasket, DN50 Gasket DN100

G Gasket, DN100 Gasket, DN150

H Gasket, DN100 Gasket, DN150

A

B

Notch upwards

Tank wall

(VIEW ROTATED 90°)

B

C

A

D E

F

1

2

3

4 5 6G H


